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Afternoon Session - 2

Laxmi due to lack of language development, initially
addressed all females as ‘mother’. Gradually limited this
addressing to her mother only. This support’s the following
principle of Development

1.
2.
3.
4.

Principle of uniformity of pattern
Development is cumulative
Development proceeds from general to specific

Different developments are interdependent.
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It is not a characteristic of development

1.
2.
3.
4.

Predictable
Continuous process
Broader concept

Quantitative
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The boy thought “when I walk, the moon also walks with me.”
This according to Piaget is

1. Animism

2 Ego centrism

3. Conservation deficiency
4 Irreversibility
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The stage of maximum ‘sensory development’

1. Infancy

2. Early childhood
3. Later childhood
4. Adolescence
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According to the Kohlberg, the stage of obedience to get the
approval of others is found in the following level

1. Pre-convention level

2. Post-convention level

3. Concrete convention level
4. Convention level
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Ravens Progressive Matrices Test is
1. Group & Verbal Test

2. Individual & Verbal Test

3. Group & Non-verbal Test

4. Individual & Non-verbal Test
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The second stage in the process of creativity as explained

by Wallas is
1. Insight stage
2. Latency stage

3,
4,

Preparatory stage

Proving stage
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The following rating scale is meant for people with mental
disorder

1.
2.
3.
4.

Haggerty Allison Whitman Ratting Scale
The Vineland Social Maturity Scale
The Fel’s Parent Behavioural Scales

The Witten Burns Psychiatric Rating Scale
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10.

The type theorist classified humans based on values is
1. Cattle

2. Rogers
3. Sheldon
4. Spranger
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The data collection method which includes identifying the
problem stage and preventing the problem stage

1. Experimental method
2. Case study method

3. Interview

4. Introspection
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The following is not a Gestalt principal of organization
1. Proximity

2. Similarity

3. Closure

4. Color constancy
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As per Ebbinghaus retention curve the percentage of forgotting
after one day
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13.

14.

According to Vygotsky the following is an example for lower
mental process
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Analysis
Observing
Discrimination

Creative thinking
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The following is most closely associated with the development
of the experiential learning theory

1.
2.
3.
4.

Jean Piaget
Lev. Vygotsky
John Dewey
David Kolb
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15.

16.

The following defined ‘learning is modification of behaviour
through experience and training’

1. Kimble

2. Herganhan
3. Gates

4. Smith
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The type of learning curve that represents when a student
initially learns about cells in 8" class and then studies them in
more depth in 9" class.

1. Parallel to Y - axis

2. Convex

3. Parallel to X - axis

4. Concave

85 SEABS’ K30 100D WHFOVS AGY 95 SEXBS® o
o800 YOO IWYHINE. EB)F)SoE0g eaiidS S\E0p

1. Y - eag;éi)é \VSroesso
¥5087°3°80

X - eag;éi)é BS0e850

Ll

EFTEO



17.

18.

Children could not learn alphabet at the age of 6 months. It is
1. Lack of maturity

2. Lack of memory

3. Lack of training

4. Lack of instructional strategy
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Child responding differently to different stimuli’s is
1 Stimulus - Generalization

2 Stimulus - Discrimination

3. Extinction

4. Higher order conditioning
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19.

20.

The process involves in establishing new relationships
between different things or issues with symbols or signs is

1.
2.
3.
4.

Sensory perception
Concept formation
Memory

Emotional regulation
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According to theory of formal discipline, teaching of
mathematics and science

1.
2.
3.
4.

Concentration and Observation
Memory and Observation
Concentration and Social interaction

Memory and Social interaction
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21.

22.

23.

One of the following is not related to ‘5E’ learning model.

1. Explore
2. Explain
3. Empathy
4. Evaluate
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According to ‘DUNN’ the number of categories of children
with special needs.
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2. 10

3.
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As per NCF 2005, the assessment for class 1 and 2 is through
1. Written tests

2. Project works

3. Oral tests

4. There should be no tests
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24.

25.

According to RTE — 2009 the “children” means
1. 5 — 15 years children

2. 3 — 18 years children

3. 6 — 14 years children

4. 3 — 14 years children
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1. 5 - 15 Jon ererdsen
2 3 - 18 Joun ereerdsen
3. 6 - 14 Jon ereerdsen
4

3 - 14 Jou rordsen

According to NEP — 2020 one of the following is an incorrect
pair

1. Part 1 - School Education

2. Part 2 - Higher Education

3. Part 3 - College Education

4. Part 4 - Implementation
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26.

27.

28.

‘MHRD’ stands for
‘MHRD’ Q J380w5%

1 Ministry of Human Resource and Development
2 Minister for Human Research and Development
3. Ministry on Higher Education for Development
4 Minister for Higher Education Development
Avast 1s
1. Anti-Virus Software
2. Photo booth
3. I worth
4. I Sync
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e
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29.

30.

One of the following is not an Application software
1. M.S. Office
2. VLC Media player

3. Power point

4. Windows
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Abilities expected from the students through one of the
ongoing programme ‘FLN’

a. Numeracy skills

b. Foundational Literacy
C. Digital Literacy

1. a, ¢ only

2. b, ¢ only

3. a, b only
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61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2.
3.
4

I did not saw him yesterday.

I did not seen him yesterday.

I did not seeing him yesterday.
I did not see him yesterday.

Choose the option that best fits the blank.

Compound subjects joined by ‘and’ take a

1.

2
3.
4

singular
past
plural

present

verb.

Identify the term for someone who loves collecting books:

1.

2.
3.
4

Choose the correct modal verb to express a past habitual

Bibiliokleptomania
Philanthropist
Bibliophile

Connoisseur

action! “When I was a child, I

day.”
1.

2.
3.
4

will
used to
could

might

play outside every



65.

66.

67.

68.

Identify the correct use of an apostrophe in a plural noun
ending in

1.

2.
3.
4

“S”_
The cat’s toys.
The cats’ toys

The cats toys’
The cats toy’s

Identify the primary focus when writing a short peom:

1.

2.
3.
4

Detailed narrative
Complex vocabulary
Length and depth of content

Conciseness and emotional impact.

Identify the sentence in the simple present tense:

1.

2.
3.
4

I am going to school.
She was singing beautifully.
He plays cricket.

They will be arriving soon.

Choose the structure of the present perfect continuous tense.

1.

2.
3.
4

Subject + verb in base form
Subject + have / has + been + verb + ing
Subject + helping verb (will) + be + main verb + ing

Subject + helping verb (had) + past participle



69.

70.

71.

72.

Identify the type of sentence: “Wow, this cake is delicious!”

1.

2.
3.
4

Declarative
Imperative
Interrogative

Exclamatory

She loves reading books, and she often visits the library.

Identify the transformation of the compound sentence above
into a complex sentence:

1.

She often visits the library because she loves reading
books.

She loves reading books, so she often visits the library

Although she loves reading books, she often visits the
library.

She loves reading books, she does not visit the library
often.

Identify the type of clause that functions as an adverb in a
sentence:

1.

2.
3.
4

She was not feeling well.

Noun clause
Adjective clause
Verbless clause

Adverb clause

, she decided to stay home

from work.

Choose the option that fits the blank.

1.

2.
3.
4

Consequently
Nevertheless
Despite

For example



Choose the correct sequence of the words in which they occur
in a dictionary.

1. Positive

1i. Politician
1ii. Position

1v. Pollution
1 iv, i, 1ii, 1
2 i1, iii, v, 1
3 1, 1v, iii, 11
4 11, 1v, 1ii, 1

Choose the correct spelling of the word

1. enormous
2 enoromous
3. enremous
4 enorimous

Select the example where the definite article is used before
nouns of which there is only one:

1. The sun
2. A sun
3. The dog
4 A dog



76.

77.

78.

79.

She got the promotion her hard work.
Choose the correct preposition that fits the blank.
1. in case of

2 contrary to

3. instead of

4 by virtue of

Post-Independence our country had to fight several wars to
protect its borders, territorial integrity, and its people.

Choose the synonym that means ‘protect’.

1. endanger
2 guard

3. harm

4 endure

I’1l tell you more: you always carried a bag with your books in
it on your sight seeing trips.

Choose the antonym of the word ‘more’.

1. extra

2 additional
3. further

4 less

The following is the correct transformation of indirect speech
for:

He said, “Will you listen to such a man?”
1. He asked them whether they would listen to such a man.

2. He asked them whether they will not listen to such a
man.

He asked them will they listen to such a man.

4. He asked them whether they listened to such a man



80.

81.

82.

Pavan decided to his job offer and pursue further
education.

Choose the correct phrasal verb that fits the blank.

1.

2.
3.
4

give up
take over
come up with

turn down

Identify the sentence that correctly uses a gender-neutral
pronoun.

1.

2.
3.
4

Each student should bring his notebook.
Everyone must complete his or her form.
Someone left their umbrella in the hallway.

Neither of the managers gave their opinion

Identify the interjection that would be most appropriate to use
as a greeting.

1.

2.
3.
4

Hey!

Ouch!
Wow!
Yuck!



83.

&4.

Read the following passage carefully.

Indian festivals are celebrated with great enthusiasm and
variety. Durga Puja in West Bengal showcases elaborate
rituals and artistic pandals, while Ganesh Chaturthi in
Maharashtra involves vibrant processions and community
gatherings. Festivals like Navratri and Raksha Bandhan
reinforce family bonds and cultural traditions, weaving a
colourful tapestry of India’s celebratory spirit.

Ganesh Chaturthi is celebrated with in Maharastra.

Choose the option that fits the blank.

1. artistic pandals

2 vibrant processions
3. elaborate rituals

4 fire works

Read the following passage carefully.

Indian festivals are celebrated with great enthusiasm and
variety. Durga Puja in West Bengal showcases elaborate
rituals and artistic pandals, while Ganesh Chaturthi in
Maharashtra involves vibrant processions and community
gatherings. Festivals like Navratri and Raksha Bandhan
reinforce family bonds and cultural traditions, weaving a
colourful tapestry of India’s celebratory spirit.

Identify the festival associated with reinforcing family bonds:
1. Diwali

2. Ganesh Chaturthi

3. Artistic Pandal

4 Raksha Bandhan



Choose the best option that fits the blank.

Speech training fosters civilized attitude and _ skills.
1. social

2 writing
3. lateral
4

reading

Identify the reading method that focuses on individual letters
and sounds.

1. Grammar method

2 Free method

3. Alphabetical method
4

Phonics method

Choose the best option that fits the blank.

The oral approach assumes that language is primarily

1. written

2 spoken

3. read

4 memorized

Choose the best option that fits the blank:

The skill of introducing a lesson involves gaining attention
through

1. silence

2 voice, gesture and TLM
3. monotone speech

4 complicated language



89.

90.

Identify a feature of English language in India.

1.

2.
3.
4

It is completely identical to American English
It includes Indian slang and phrases.
It does not follow British English grammar.

It is not influenced by regional differences

Choose the best option that fits the blank.

At the junior level, one of the aims of teaching English is to

b=

simple statements and respond to questions.
memorise

form

ignore

translate



91.

92.

93.

0.036x0.45 0.06 _

0.0003 0.15
1. 50
2. 54 .4
3. 53.6
4. 58

If Marked price = % x and Selling price = % y then percentage
of discount

(@568 o =T x 50000 @S o =Ty @00 EOR0E0
caalel

1. =X 100

2. Y= 100

3, Y=Y 100

4. XY 100

Karthik borrowed 9500 and cleared his loan 14060 at the
end of fourth year. Then rate of interest

5°65 29500 0 @WPT BiER) SIS TOoKS BOIBYT0
Q55S° 714060 BYoD wIPETY. wond ;séaew

1 11%
2. 11.5%
3. 12%
4 12.5%



Product of (-3x) and (-5y+2) is
(=3x) 508050 (-5y+2) © oy

1. —15xy—6x
2 —15xy +6x
3. 15xy+2

4 15xy—6x

Square root of 2.56 is
2.56 &Boo%). SGJre0

1 1.6
2. 0.16
3. 1.4
4 0.14

Ravi bought a second hand television for ¥4500, then spent
500 on its repairs and sold it for ¥6000. Then profit
percentage is

8 28 IS BOI=IK> 45005 §, oA BO0S® 585038
Zowod 76000 % S0 90NT TrH TS0

1. 151%
2
2 17%
20%

4. 221%
2



97.

98.

99.

Number of factors of 90 is

90 o‘:‘m§z)_ SPEETOTOO 260235

. 6
2. 12
3.

4,

The successor of x + 5 is 9 then the value of x is
X+ 5 RBoY), &BT Dopg 9 oS x BT, JedI

1 0
2. 1
3. 2
4 3

The product of two consecutive even numbers in which the
second number is 8 less than the twice of the first number is

BOES VoPg, JnesEd VoPg BLOY 508 8 &) S SOAS
BOLO D D8 boaa?so ©0

1 80
2 120
3. 168
4 224



100.

101.

A bag has 4 red balls and 2 yellow balls (all balls are identical
in all aspects other than colour). If a ball is drawn randomly
then the probability of not getting a red ball is

2.5 H0DS 4 YY) 2051 SHBATN 2 DY) oen E0).
() woes So/HS” &9) o) IAWres® aer eaon.)
AEHNEONT 2.5 22080 1SS, AT 208 TEFSEE
éoeyégeﬁ

L 2
3
. L
3
3. 1
6
4. 1

If 100 is increased by 40% and then decreased by 40% then
the resulting number is

100 e 26081)5 40% B8R e 33;53&&3 40% éﬁc‘é ;515{) :602135

1. 100
2. 84
3. 80
4. 76



102. Read the following statements and choose the correct answer
I: The width of the each rectangle is same in Bar graphs
IT : Bar diagram consists of Rectangles
1. Both I and II are true
2. Both I and II are false
3. I is true, II is false
4, I is false, II is true
808 TR SO BBS marwDd IS0l

. =Ny “ “ “
I ar§rSd™ (98 By sens(po Isen) 95050
II: b BYSSEros SOR Hoenod.
L. IS0 Meo 9850
15805 oo @50

Iéeﬁso, II @‘69550

> w b

Ieﬁ‘éeﬁ§o, II ééago

103. In asequence 12, 24, 36, 48, ..., the next term is
12,24,36,48, ..., BAS° Stares 53) ¥eso

1 66
2 64
3. 62
4 60



104.

105.

Bhaavagna has a colour tape of length 40 cm 3 mm and out of
this she utilized 17 cm 9 mm in a craft work. The length of the
remaining tape is

1.
2.
3.
4.

23 ¢cm 6 mm
57 cm 12 mm
22 ¢cm 4 mm

58 cm 2 mm

Sz 5G40 0.2 3 . FEY Ko Kok 85 &R)d. TS
17 0.0 9 .20, P& S0H D &S (577 ¥IS” AABrRoN0
8.0008 &5 S5& DADSDY 85 >E.

1.

Lol

23 0.2, 6 ..
57 0.2, 12 Q..
22 0.2, 4 ..
58 20.2. 2 Q..

The perimeter of the adjacent figure is (in cm)
B, 960 By 0680 (0.0, o)

1.

Sl e

1cm

28 . N
24 3cm 3cm

3em c 3cm D
32 1cm7 1cm

30 Y 3em F 3cm E

1cm



106.

107.

If the lengths of only two diagonals are given, then the kind of
quadrilateral that can be constructed with these two
measurements alone is

1. Rhombus
2. Rectangle
3. Kite

4. Trapezium

B0 ST FPEIOD S| 3RS, B2 o FOBO™
S(GR &DBrRoD AdhKe S0 SEE

1. 0023

2. Brsespo
o

3. OO

4. | B>Rcno

The adjacent figure is a parallelogram ABCD and
BE 1 CD, AD 1. BM . If AD =4cm, BE = 3cm,

CD = 6¢cm then BM = (in cm)

(3590 ABCD 2.5 9557088 Ser89)z0 8050
BE L CD, AD 1 BM . AD = 420.%., BE = 320.2.,

CD = 620.2. ©9020:5 BM = (20.2. ©&°)
.18 2
2. 44

3. 45

4. 24




108.

109.

Assertion :

Reason :

The volume of cylindrical container of height

% cm and radius 7cm is 450cm?

We use Formula ¥ = 774 to find the volume of
a cylinder.

Assertion is true Reason is also true

Assertion is false, Reason is true

1
2
3. Assertion and Reason both are false
4

Assertion is true But Reason is false

(DEOS -

S°E0

28 AT (S Dok, I %?oo.fib. Alelesty

55"53"90 73250.9. e9000S €3 TS DOIDOITE0
450 <3.200.2.

2(%‘530 BT, WIDBI5°e30 SR V= nr’h

AR DIEATLD.

1. (@8&S 269550, 580 S5 ‘éeﬁs&i&o

L

(@8eS eﬁ‘éeﬁago, isglefarle) ééago
(@D8eS LBA P80 DOLT 6:92695?30

(@8&S 269550 D 8830 @‘éeﬁso

Subtract 3xy+5yz—7zx from Sxy—2yz—2zx+10x)yz

5xy—2yz—2zx+10xyz 5508 3xy+5yz—Tzx 5o BVI3A%re

1. 2xy+ Tyz+S5zx+10xyz

2xy—"Tyz—5zx+10xyz

2
3. 2xy—"Tyz+5zx+10xyz
4

2xy+7yz—5zx—10xyz



110.

111.

112.

Top view of conical shaped heap of rice looks like a
1 Rectangle

2. Triangle

3. Point

4. Circle

D 0% WIISYE 2.8 FoHNY 58 é)oﬁos@§obo)
QU° EIDEIOR.

L Bosespo
o

2. (Babeso
3. AllaSIN)|
4, S)&a500

The sides of a triangle have lengths 13cm, 7.5¢cm and x cm
where x is a whole number. The minimum value of x is

2.5 | Qehes 2here FEIen 1320.0, 7.50.20 308d50
X 0.0, gEE X 2.8 PPFOEED ©ond x Booy),
08 DY) o

1. 5
2. 6
3. 7
4. 20

If a, b are twin primes, a > b then

a, b 0 530 (PES Dopgen, @ > b e

1. a=b+2
2. a=2-b
3. b=a+2
4. b=a+1



113.

114.

3 .
2 of a complete revolution makes an angle of

2.5 I8 (g30808" %50@ 3o &0

1.
2.
3.
4.

90°

180°
270°
300°

The expanded form of “20068” is
“20068” Boo8). AQTE? IS0

1.

2
3.
4

2x10*+0x10°+0x10° +6x10+8%10°
2Xx10°+0x10*+0x10° +6x10° +8x10
2x10*+0x10°+0x10° +6x10° +8x 10
2x10° +0x10*+0x10° +6x10°+8x10



115.

Which of the following are the characteristics of a good
mathematics classroom?

a. Be airy and ventilated
b. Have continuous power supply
c. Make arrangements to exhibit the teaching learning

material / equipment.
d. A chart with the details of Mathematics formulae etc...

e. Allotment of a separate cupboard to keep mathematic
books separately

808 5°AS° 0D KBS SEK KB oFeren

a. O, Joodoth SE A (HH00T dovye &oed.
b, A0S0 AT MgS Ig5Y &0a.

. SETUGOS BOEC0R (HE50T Aoy oG
d. KA Jr@rod® TrES AES &oad.

e. K3 YIsre §%0 @35§ ©O 07 Ber0000w°d)

1. c,d, e

2. b,d, e

3. a,b,c,d
4. a,b,c,d, e



116. The ‘Taj Mahal’ in Agra is the proof of the following
Mathematical value

117.

1.
2.
3.
4.

Utility value
Cultural value
Disciplinary value

Readiness value

S’ &%) ‘o8 o 308 KBS ensH TodSH

1.

L

PBoreS Jews
éwobzyo)e% RISON
(S35 Deds
?og:aaiﬁ DS

One of the following is not a role of upper primary school

mathematics teacher

1.
2.
3.

4

He should feel mathematics as part of his life
Should have his own style in teaching Mathematics
Should write articles in magazines, and books in math

Collects funds from students to establish Math lab

808 TS’ (FFWE RS FETeS” A3 G ergoind
TS 20

1.

e N

KAerR) &5 BB’ 2.5 grrom grdoTd.
K3 S5 SIBS (98gE 30 MEYEHE .
K3 DOES. ogireo, Ke3S PRISTew ST, Gocd.

K3 (DKo Aov)en §E%H Jorgdho Hod
Aeoen 1EBOTO



118. ‘Understanding the process in proving the problem’ relates to

1. Problem solving

2. Reasoning and proof
3 Connection

4. Communication

VHFG AETHeS” (E5R) ©Po TwE NG WIS
L OSyy e

2. STETR0 THYE0 - AUTHeIRD S fereYete]
3. €9 0VOGFPIS0
4. oS ;5§_§°§6£3

119. Textbooks are designed and developed at state level by (in

Andhra Pradesh)

1. Samagra Shiksha

2 SIEMAT

3. SIET

4. SCERT

o n@;oaoes‘s FEGI/SOR ErFoRoD, wHHA DOT B0y
(es0(FRTFS®)

1. DBHBY

2. SIEMAT

3. SIET

4. SCERT



120. Asper K—W —L — Chart ‘W’ represents
K-W-L-oHS ‘W eosm

1.

2
3.
4

What to know
Why to know
Want to know
Which to know



121. Plane mirror : equal size, virtual image : : convex mirror :

1.
2.
3.
4.

Diminished, virtual image
Diminished, real image
enlarged, virtual image
enlarged, real image

PN 1O} cScio)sao 1 0S50S DBSIPER0, 333@5 @&Qo200 ¢ :
08 $8ye0 1

1.

2
3.
4

TSI, iy @800

HEIIS, dzz (HHD0220

DEBS, 3)3(;5"5 @&Do200

EBS, Jz (PBDo0o
Q-

122. The correct sentence refers to the safe keeping of a bar magnets is

1.

Ll o

Magnets should be kept worm

Magnets kept in pairs with unlike poles on the same side
Magnets must be separated by a piece of soft iron

Two wooden pieces should be placed across the ends of
magnets

BOGADIY 0T WIFEON® GOBER) MIPDVOT HJS TE(0

1.

Lol

VAN 0T O IF)T° &0wd
> Jed SyTren 23JY GBI BE &oTd.
AT O0BO F0&g 28 FEI WD 500K, &owrd.

OO BEYINE) O @oﬁoiwzrowo BO&K VIO
&ow°d.



123.  Friction can be increased by

1. Making surface smooth
2. Using lubricants

3. Using ball bearings

4. Providing spikes

DEEIS) U DOWIE)

1. EDBBLY) SO0 S fostlete)

2. ORI &HBIR0IE0

3. 2 238050050 EIBTROIEO
4.

?0035 (20872) 9 Shsleplede

124. Odd one from the following

1. Fermentation of grapes

2. Digestion of food

3. Sublimation of camphor
4. Ripening of fruits

80d AS° DS

1. (5 OB KO

2. e5%0 BYSHSE0

3. §d§°°)cio &&)1850 BOLEO
4. pelet) Zo%so D00



125. The wrong combination from the following

1. Rayon - Artificial silk

2. Nylon - First fully synthetic fibre
3. Bakelite - Thermosetting plastic

4. Melamine - Thermoplastic

808 FAS° ¥8Z° 238

1L Bosre - 5@ &)

2. [ - 0 HOYY EY@HTo
3. D585 - S8 QoA 8

4. DOW - SE VRS

126. The food item that is rich in phosphorous

1. Apple
2. Ginger
3. Mirchi
4. Grapes
TR BT SOR GoT e Brrgo
1. es2S
2 ©O0
™
3 QDTD
4 &5



127. The plant that has palm shaped leaves

l. Papaya

2. Pudina

3. Hibiscus

4. Peepal

TP SEY) dGrew Ko I,
1. &0

2. DS

3. Nblelaile]

4. O°x)

128. “The new cells arise from pre-existing cell” - this was first
proposed by

1. Schliden

2. Robert Hook
3. Robert Brown
4. Rudolph Virchow

“E° Seen T3 500K BB0 SeTe So0d d)Earon”
0 J0EET O (DA HONS I

1. 2@
£
2. U°2o§ 08
3. mag@“’g
4. Ci)CE"G% ;’3662;5



129. Schwann cells are found in

1. Nephron

2. Neuron

3. Muscle cell

4. Villus

D SeTeo 30cHS” &oero.
L AP

2. &880

3. Eo&E8e30

4. €30(&BI°AS0

130. The activity does not allow in a wild life sanctuary
a) Capturing animals
b) Collecting medicinal plants
c) Grazing live stock

d) Collecting Fire wood

1. a only

2. a&b

3. a,b&c
4. a,b,c&d

;5:65@1’8% @2505?68’350(’58 ©0FBOBLE S*EFE D0
a) BOBIHOD DEEO

b) TR oK) 00 DEBOLNHE

C)  DOIHOS neso

d)  Soé BesXH 1EBoNEO

1. a 357

2. a08a3w b

3. a, b 08a% ¢

4. a, b, c0dasn d



131.

132.

Mudras are used to express feelings and emotions by

1. Mime artists

2. Painters
3. Musicians
4, Dancers

TN SEEO0STAS $0(EO IVEPACLIT
L oD Soesedhen

2. Q(ESeHoen
3. Dol soHen
4, 253955 ISe SISV

One of the following set of games require a ball to play with

1. Tennicoit, Tip-cat, cricket, tennis
2. Tennis, edupenkulata, cricket, volley ball
3. Tip-cat, edupenkulata, volley ball, tennicoit

4. Cricket, basketball, skipping, throw-ball
535 308 TIS° 208 EIBFACD Ie(EH esEKOR estoo

QB0°I°0

L 8Ysond, §od), (§E8, B8YS

BYS, A DOHE e, (§38, 3erd
507D, AoHEe, Terd, BYPsTond

e N

&35, ero) &Serd, oo, (S'ard



133.

134.

Identify the state that does not share a border with West
Bengal

1. Assam
2. Odisha
3. Meghalaya
4. Sikkim

2B oSS VOTE DS oY) KBosok.

1. OJ)0

2 2&d

3. owrecdH
4 280

The day of “humiliation and prayer” against the Rowlatt Act
was observed on

T'oS S8 SBVE0M “@ISSTSO, (TS BSor
FE0DS &

1 April 6, 1919
2. April 19, 1919
3. May 6, 1919
4 April 29, 1919



135.

136.

Find out the wrong statement regarding the election of
Legislative Council members

1. % of the members are elected by the Legislative
Assembly

2. % of the members are elected by the Teachers

3. % of the members are elected by the Local Authorities

4. % of the members are nominated by the Governor

FOS SDo&S 62;5050 Q@Qﬁo 00250801 D83 eaoe*n‘i()))
5801506,

1 %gs Sodhs 3008 VLo THIE Vg YD,
2. %;5 $50¢8) S$H08 62;535@‘63 é%"@"agoﬁw@o Q@&ow&.

1 VA LA LA (V4
3. ESS $50¢8 SHod ‘02;5323@:63 igéO§ DORPO ‘02;53503
Q:Sa&owdo

4. é;s Sodhs 3008 Hibgow K55 WIS ST,

This civilization associated with the ‘cuneiform’ script was

1. Mesopotamia
2 Egypt

3. Indus valley
4 China

g0’ DS’ 0020850 &) THOES
L oS o

Bey

2033 S %

W N

BI°



137. Find out the incorrect statement

138.

1. Maize crop needs well-drained fertile soils
2. Cotton requires 210 frost free days

3. India is the leading producer of Coffee

4. China is the leading producer of Rice
D857 @O K>803506.

L 305 EK) D065 e A P SOAS
FESOBZ0S I0en @SB

2. D8 D06 210 500 HES Sleren e@SHE0
3. 5 %ot &H)BS wrEsTo eiyses” &od.
4. 30 Dot &B)BS° P LSS’ Gob.

The number of seats reserved for Scheduled Tribes (STs) in
the Lok sabha is

RSN ':’Ac‘éfgeg 3K0% (ST) m% SoHads ?oé(% 008s

1. 84
2. 48
3. 75
4. 47



139. ‘Andhra Kavita Pitamaha’ was the title of
1. Nandi Timmana
2 Allasani Peddana
3. Sri Krishnadevaraya
4. Nannayya
‘30(¢5 BT DSTVE &S DO SOAS I

1. 308 @50&?5

2. DOFA DES
3. @HROScaben
4. SPoo

140. Shifting Cultivation is known as ‘Bewar’ in this State
1. Madhya Pradesh

2. Punjab
3. Jharkhand
4. Manipur
DTS SFIFATY) BrE DHS” Be 0HOS” oo,
L SEees
2. Homed
3.  =80&
D
4, NN



141. A Constitutional Amendment that created local self-
Government in Urban areas is

DEed (Foad] T HHOF OB o) SO overgok
e [se <)

PNTetar!

1 73
2. 74
3. 75
4 93

142. Find out mismatched pair regarding the Districts and their

Headquarters
1. Sri Satyasai - Puttaparthi
2. Palnadu - Narsaraopeta

3. Krishna - Machilipatnam
4. Konaseema - Bhimavaram

Zeren S8 & (HES Bo(ETe H020080D VOFI
23S 80806,

1. @69553"030 - D&DY
DTN - 503@35)’53@3

SYL - ;Soi’)@:aé%)o

Lo

85595 - D580



143.

144.

The last session of the Indian Constituent Assembly
was held on

1.
2.
3.
4.

26" January 1950
24™ January 1950
24™ January 1949
26" November 1950

PSS oeagolt ¥ D50 DIZ50 20RS S

1.

Lol

2538 26, 1950
2558 24, 1950
2558 24, 1949
S350206 26, 1950

The Satnami Movement in Central India was started by

1.
2.
3.
4.

Haridhas Thakur
Ghasidas
Pandita Ramabai
Tarabai Shinde

o8 2ESTIOS” DEYW &SI (FToNODIO

1.

W N

SO orErS
BT
HNo&es ESTeeTron

SPOP2IP0 D0G



145.

146.

Children’s ideas about Science concepts show that, “ the way
they see an object and ego centric and these ideas change over
and over again” said by

1. Drever and Gunsen
2. Vygotski

3. Ausubel

4. Crow and Crow

P PSSO 180D 1Y eSS0 “T% 2.8 SHRH®
BTDATSO 830 @Tr0 Zo|EONT &0enos), e
S’ EIOD HTO 080 STE)H0LrSY” - SO)SO

1. @;55 558050 msﬁ
SN
esDBS

~owN

§° o8 (§°

Identify the goals belongs to affective domain from the

following
a) Receiving b) Imitation
c) Organizing d) Naturalization

808 FUS° gy S0 o8BS OF§eH KHZ0S0E.

a) PtSpleintete b) 93088

c)  SEILHTO d) $°°Sa7°§3§6s'a
1 a, b

2 b, c

3. a, c

4 b,d



147. This quantifies the result obtained in the examinations

l. Measurement
2. Assessment

3. Test

4 Factor Analysis

28508 FoBS HOR) DBITETS o ST

1 PRS0

2. Nlale))

3. Q8

4. 0% é’)ﬁ;ﬁe@

148. The learning indicator of creating questions based on tables,
graphs and pictures falls under this academic standard

1. Conceptual understanding
2. Appreciation and sensitivity
3. Information skills

4. Mapping skills
BT, THeo, VG UPS (DYoo SCird BaEo &I wegda
R Be Aoy (3307820 (§0e5S S0,

1. QAT SIS
(BIOD - VoSS0
é;ﬁra"éqﬁ_@wsm

Lo

DeFYET§Ed



149.

150.

Transdisciplinary approach was first used by

1. Piaget

2. Billard

3. John Dewey

4. Kilpatrick

(B0l BEKET @DAITR) BT &IRTAOVII

1L a5

2. derd

3. wgcirgw
4. &S>EBE

Forming General principles from specific subjects comes
under this perspective

1. Deductive Perspective

2. Analytic Perspective

3. Synthetic Perspective

4. Inductive Perspective

(BT IO HoD FPErSE WSO ErFofoEo
Bs SY5)P0 (§oBS S5:08.

1. QRSTEE SYE)E0

DIRETSYS BYS)E0

DOBILE S GSyEYFo

BRI SYS SYE)F0

L



